T3Y-J

at your side

IS5 —T##%HA K+t / BROTHER INDUSTRIES, LTD.

FA{TMRIREEE (EPD)
BRES : JR-AI-20118E-A

orother

IJV-JBIBESAINI 0I5 A
—BAEEAT R T T IIVIR=HERE
FRETFRBEXBRER2-2-1
https://ecoleaf-label.jo

E/7aQL—H—=J1) 48—

Mono Laser Workgroup Printer

HL-L6450DW

BEH{
H@1AaHh

HEN SRS
m 5&AF mlslis ]y
[RAAR A TRIE. . RS
HmOBK, TELE - 5T
AR : HL-L6450DW
)24 (EPAR)
-0
ARAFEE : 11.5kg. BEAD : 4.4kg
-ENRIERE : 50ppm (A4)
- BEN I EEDRIEEE
-HEHR/BHRLAN
XARBBFEUEEITTTY,
BW\WSHE %
ISP -TEMAST E5-RIE - #0558

TEL: 052-824-2511 ({&K) FAX: 052-821-5177

https://www.brother.co.jp/

SBBES JR-AI-20118E-A
BAPCRES PA-590000-AI-03
PCR% ESFRA L DHEE [5E30R]
NS 202143H31H

WIES1EE 2021438248
BREEAN ST LGRS
RIEES JV-AI-20118
AR 202643823
PCRLE1—-DRitE
SREHZ 201941188H
FER #lF 82
(—HEHEEAN Y AT TR EHEERARE)
B=ERGIE*
NEMREER AN 5

ISO14025(CE D e AREERUT —5 DML UTARFE
PSR m 515D

¥ RT LATEPER T TEBEANOREEDIES(F. S AT LRZTo
EEEOLAIZ .

EiHES ¢ JR-AI-20118E-A


https://www.brother.co.jp/

IaJ—-27 IJV-JBESANID OIS A

m e — — MR EEAT R T T T IVIEEHEERRE
517 IRHES (EPD) RRHFHBRBAR2-2-1
&S ¢ JR-AI-20118E-A https://ecoleaf-label.ip
QT4 TYA VI EHnER
0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 650 |kg-CO2eq
[izdeale 0.38 | kg-S02eq
BRHE 0.023 | kg-Sbeq 6

B QEMMEE mQEE nORE nOFEMA-HFEE nORE- VY

PIER B By = OFEMBRE| QXEE Qi |oEm - #iseE| OBEE - VI
SARZE) IPCC 2013 GWP 100a | kg-CO,eq | 6.5E+02 | 1.2E+02 | 8.6E+00 | 1.2E+01 | 4.8E+02 | 3.2E+01
ERIEAL kg-SO,eq | 3.8E-01 || 8.6E-02 | 1.9E-03 | 1.0E-02 | 2.7E-01 | 1.8E-02
ERHE kg-Sbeq | 2.3E-02 | 8.6E-03 | 3.3E-05 | 4.9E-05 | 1.5E-02 | 2.0E-05

@ EIBEA T MBI N OIE (CET S1ERLH

IHH :=Livi IHH Ba{i]

JEBAETREEIR 2.4E+01 kg EE 3.4E+00 kg

JEFERIETRILT— 2.3E+02 kg SUS 6.5E-02 kg

BETREER 9.8E+01 kg FILZZD A 6.1E-02 kg

BETRETRILFT— 1.9E+02 MJ Z0MhERE 0.0E+00 kg

BIKDEE 6.5E-01 m3 TSAFvY 8.9E+00 kg

myN 2.1E-01 kg

@ FEEYIEHEISER HSX 2.9E-02 kg

=] BigiT i 1.7E+00 kg

—RREEZRY) 1BV 0.0E+00 kg SREMPRENR 5.4E-01 kg

FEERZEY) 1B 5.2E+00 kg Zofth 8.6E-01 kg
KSATHAOIVCHITDEEMEZRUTNET,

OREMRICEY SEMFH

ERREOEESZE (SFUA)
U5 (EPAR) . BEEFEAR : 5. BERIKER : 374,4004%. EDRIAIETSE (J{H—>) :ISO/IEC 19752
ENRIAMRISRIBERECEERV, BAULEIIILF—XS-T0OJS5 A : Ver.3.0




IaJ—-27 IJV-JBESANID OIS A

o gy i — —BREEEAT R T T TR ERENRE
SATIRIGES (EPD) RREBTHRBRBEE2-2-1
Z8ES © JR-AI-20118E-A https://ecoleaf-label.ip

©-1.FDMDIRIZEERR

ARBROIEITAEE E T EEPROD M —RUBHAERIE(FIS014001 BFEER TIHICTITODNTLE T,

QERULEZRT—HDERS
IDEA v2.1.3 RUTIU—TJRESNILTOYS ABHRFREAL v1.10 ZEAUE,

® "%
20214678278 @5 THADILA >R NUSHBIERELR : kDM BEDEE

0 —FEFEDHEF. PCREKXUETRE - EEHREZSRULTIIZE,
OLLEXC DT IE. B - EERBE(CRESNIERMEBIUBSICUNRHESNER A,
(BH85URL : https://ecoleaf-label.jp/regulation/)
Ei&ES : JR-AI-20118E-A



